
 

 

                                                                                                                 

     WORD PROBLEM ON ADDITION 

1. A farmer grows 118 papayas and 53 pineapples. 

How many fruits did he grow altogether?                                                                                                                                                    

       1 

SOLUTION...         H  T  O 

  No. of papayas   =   1  1  8 

  No. of pineapples =   +   5 3 

  Total no. Of fruits =   1  7  1 

Ans =  Farmers grow 171 fruits. 

 

2. Amit read 109 pages of this book before lunch. 

After lunch he read 126 more pages. How many pages 

did he read? 

         1 

SOLUTION...            H  T  O 

  No. of pages read before lunch =    1  0  9 

  No. of pages read after lunch = + 1  2  6 

  Total no. of pages   =    2  3  5 

Ans = Amit read 235 pages in all. 


